Facit V

108:

> dsolve(diff(x(t),t)+x(t)*tan(t)=0,x(t));
L x(t) =_C1cos(t)
| 109:

> dsolve(diff(x(t),t)+x(t)=t,x(t));

X(t)=-1+t+ eV C1

iﬂgsolve({diff(x(t),t)+1/t*x(t):—2*tA2,x(l):—l},x(t));
o1
X0 - 2t 2
> simplify(%);
X(t):_t4+1
2t

C 111
> dsolve(t*di FF(X() , £)-2*x ()=t 5,x(1)):

[ﬁ j
ty=|—+ C1|t
7 X(t) 3t

[ 112;

> dsolve(diff(x(t),t)-2/t*x(t)=2*t+5,x(t));

23 )
x(t)=| 2In(t) =+ _C1 Jt

C 113
> dsolve(diff(x(t), )+t "2*x(t)=t"3+1,x(t));

t3

| x(t)=t+e ’ C1
- 114:
> dsolve(diff(x(t),t)+x(t)=cos(t),x(t));

1 1 (-1)
X(t) = E cos(t) +§sm(t) +e _C1

>



